L1 The unit of force in 81 unityds. s=rkarire=sult=.ia
{a) kilogram

(b} newton

(c) watt

{d) dyne

() joule.

Ans b

102 The umit of work or energy m 5.1 umis 13
() newton

(b) pascal

() kilogram mefre

(d) walt

() joule.

Ang e

1S The umit of power in 5.1, units is
() newton metre

() watt

(c) joule

(d) kilogram metre/sec.

() pascal per sec.

Ans b

104, Forges are called concurrent when their lines of action meet in
() one point

(b} two points

{¢) plane

{d) perpendicular planes

(&) different planes.

Ans. a

105, Forces are called cm:!an*n;wh:n all :Jl’th-:m acting om body e in
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() different planes

{d) perpendicular planes

(e} different points.

Ans b

10.6. A force acting on a body may

{a) introvhuce internal stresses

{b) balance the other forces acting on it
{¢) retard its motion

{d) chanze its motion

() all of the abowve.

Ans. e

1007 Which is the correct statement about liw of polyzon of forges ?
() if any number of forees acting at a point can be represented by the sides

of & polbygon tiken m order, then the forces are in equilibrium

{b) if any number of forces acting at 4 point can be represented in direction and magnitude by

sides of a polyzon, then the forges are in equi—librium

(c) if a polyzon representing forces acting at a point is closed then forces are in equilibrium
{d) if any number of forces acting at 4 point can be represented in direction and magnitude by
sudes of a polyzon taken in order, then the forces are in equilibrium

(e} none of the above.
Ans d

10.8. Effect of a force on a body depends upon
(a) magnitude

(b} direction

{©) position or line of action

{dj all of the above

(e} nome of the above,

Ans d

1050 1F a mumber of forces act simulianeously on
a parhicle, it 15 possible

. {”! not a replace them by iﬁél;!’!f fomee

nere is only for reference.

Information Frovi
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(<) to replace them by a single forpe-Hachpdi €a5nlc=. o
{d) to replace them by a couple

{e) to replace them by a couple and a force.

Ans b

10011 A force is completely defined when we specify
{a) magnitude

(b} direction

{€) point of application

{d) all of the abowe

() none of the above.

Amsd

T2 0 bwo equial forces of magmtude P act at an angle 9°, their resultant will be
() P2 cos 92

(b IF sin 92

(€) 2P tan 92

{dy IF cos 92

() Psin B2,

Ans. d

10015 The algebraic sum of the resolved parts of 8 mumber of forces in 8 given direction is eq
the resolved part of their resultant in the same direction. This is as per the principle of
(a) forces
{b) independence of forces
{€) dependence of forces
() balance of force
() reselution of forces.
Ans e

10.14. The resolved part of the resultant of two forces melined at an angle 9 m a given direct
eqqual 1o
{a) the algebraic sum of the resolved parts of the forces in the given direction
{b) the sum of the resolved parts of the forces in the given direction
() the difference of the forces multiplied by the cosine of 9
the sum of the forces nmltmllnd by the sine of 9

o {r}!n: Information Frovided hers 15 only for reference. It May vary the Origina
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10015 Whach of the followmg do not have identical dimensions 7
(a) Momentum and impulse

(b} Torque and energy

() Torgque and work

{d) Kinetic energy and potential energy

(&) Moment of a force and angular momentum.

Ans e

10.16. Which of the following is not the unit of distance ?
{it) angstrom

(b) light year

() micron

(d) millimetre

(&) milestone.

Ans e

1017 Which of the following is not the unit of power 7
() EW (kilowatt)

{b) hp (horse power)

() kgal/sec

(d) kzm/sec

() keallkg sec.

Anse

1018 Which of the following is not the unit of work, energy and heat 7
{a) keal

{b) kzm

() KWhr

(d) hp

() hp hr.

Ans d

10019 Whach of the followmsg is not the unit of pressure 7

(8) kgfem ; : ; .
o = Information Frovided hers is only for reference. It May wvary the COrigina
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() mm of wel

() newton.

Ans, e

1020 The weizht of a body is due to

() centripetal force of earth

(b} gravitational pull exerted by the carth

() forees experienced by body in atmos-phere

{d) force of attraction experienced by par—ticles

() gravitational force of attraction fowards the centre of the earth.
Ans e

10.21. The forces, which meet al one point, buf their hines of action do not lie in a plane, are G
{a) coplanar non-concurrent forces

(1) non-coplanar concurrent forces

{¢) nom-coplanar non-concurrent forces

{d) intersecting forces

(e} mome of the above.

Ans b

1022 When tryving 10 turn a key into a lock, following 15 applied
() coplanar force

(b} non-coplanar forces

(<) lever

{d) moment

() couple.

Ans. e

10223 Wihich of the following is not a scalar guantity
(a) time

{b) mass

{€) volume

{d) density

(&) acceleration.

Ans e
ite=: The Information Frovided here is only for reference. It May wvary the Origina



10.24. Acconding 10 principle ofransansabiityofforces, the effect of a force upon a body is
{a) maximum when it acts at the centre of gravity of a body

(b different at different points in its line of action

() the same at every point in its line of action

{d) minimum when it acts at the CG. of the body

(e} none of the above.

Ans. ¢

1025 Which of the following is a vector quantity
(&) encray

{b) mass

(<) momentum

{d) angle

(¢) speed.

Ansg

1026 The magnitude of bwo forces, winch when acting at right angle produce resultant force
VIOks and when acting at 60° produce resultant of V13 k. These forges are
{1} 2 and Ve
(b} 3 and 1 kg
{c) VEandV'5
(d) 2and 5
() none of the above.
Ans ¢

1027 A number of forces acting at a point wall be in equilibrivm if

() their total sum is zero

{b} two resolved parts in two directions at right angles ure equal

() sum of resolved parts inany two per-pendicular directions are both zero
{dj all of them are inclined equally

(&) nome of the above,

Ans ¢

1028 Two non-collinear parallel equal forces acting in opposite direchion
() balance each other
{”! u}nmluh: i moment

e
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(d) comstitute & moment of ouplerw - s=rkarire=ults=.ia
() constitute a resultant couple.
Ans. ¢

1029 According to principhe of moments
() if & system of coplanar forces i3 in equilibrium, then their alzebraic sum is zero
(b} if a system of coplanar forces is in equilibrium, then the algebraic sum of their moments al
any point in their plane 18 zero
() the algebraic sum of the moments of any two forces aboul any point is equal 10 moment of
themwesultant aboul the same point
{d) positive and negative couples can be balanced
() mome of the above,
Ans b

10.50. Which of the following is not a vector quantity
{a) weight

(bj velocity

(¢} acceleration

{d} force

{e) moment.

Ansia

1003510 According to law of triangle of forces

(a) three forces acting at a point will be in equilibrium

{b) three forces acting at a point can be represented by a triangle, each side being proportiona
force

() if three forces acting upon a patticle are represented in magnitude and direction by the sid
triangle. taken in order, they will be in equi—librium

{d) if three forces acting ata point are in equilibrivm, each force is proportional to the sne of
angle between the other fwo

(e} nome of the above,

Ans ¢

1055 If 2 rigid body is in equilibrium under the action of three forces, then
() these forces are equal
the lines of action of these forces meet in a point

b)
o {r = Information Frovided hers= is only for reference. It May wvary the Origina
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() none of the above.
Ans.d

1086, [F Alembert's principle is used for

() reducing the problem of kinetics to equivalent statics problem
{b} determining stresses in the truss

() stability of floating bodies

{d) designing safe structures

() solving kinematic problems.

Ans a

10357, A heavy ladder resting on floor and against a vertical wall may not be in equilibrinm, if
{a) the floor is smooth, the wall is rough

() the floor is rough, the wall is smooth

() the floor and wall both are smooth sur—faces

{d) the floor and wall both are rough sur-faces

() will be in equilibrium under all condi-tions,

Ans ¢

1038, According 0 Lami's theorem
(@) three forces acting at a point will be in equilibrinum
() three forces acting at o point can be represented by a triangle, each side being proportiona
foree
() if three forces acting upon a particle are represented in magnitude and
direction by the sides of a tnangle, taken in order, they will be in equilibrium
() if three forces acting at a point are in equilibrium, each force is proportional to the sine of
angle between the other two
() nome of the above,
Ans d

1039, Two coplanar conples having equal and op-posite moments
{a) balance each other
{b) produce a couple and an unbalanced force
() are equivalent
. {9}! produce a moment ﬂfﬁﬂ'uJﬂt
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10040 A framed structure i perfect if it contams members equal 0
(a) Zn-3

{b) n-1

(¢} 2Zn-1

(djn-2

(€) 3n-2.

where n = number of joints in 4 frame

Ans a

10042 The product of either force of conple with the arm of the couple s called
() resultant couple

{b) moment of the forces

() resulting couple

(d) moment of the couple

(e} nome of the above,

Ans d

1045 In defennining stresses in frames by methods of sections. the frame 12 divided into two |
by an imaminary sechon
drawn in such o way as not 0 cut more than
() tweo members with unknown forces of the frame
(b} three members with unknown forces of the frame
(¢} four members with unknown forces of the frame
{d) three members with known forces of the frime
() four members with two known forces.
Ans b

1044 The centre of gravity of a uniform lamina lies al
{a) the centre of heavy portion

{b) the bottom surface

() the mid point of its axis

() all of the above

() none of the above.

Ans ¢

The Information Frovided here is only for reference. It May wvary the Origina



10:45. Centre of gravity of a solibrone fiesTarHwe ks aFthe height
{a) one—fourth of the total height above base

(b) ome-third of the total height above base

(c) one-half of the (otal height above base

{d) three—cighth of the total height above the base

(e} none of the above.

Ans. a

10:46. Cenfre of percussion 15
{a) the point of C.G.
{b) the point of metacentre
() the point of application of the resultant of all the forces tending to cause a body to rofate al
certain gxis
{d) paint of suspension
() the point in 4 body about which it can rotate horizontally and oscillate under the influence
Ans ¢

104 7. Centre of gravity of a thin hollow cone lies on the axis af a height of
(a) one—fourth of the total height above base

{b) one-third of the fotal height above base

(<) ome—half of the total height above base

{d) three_eighth of the total height above the base

(&) nome of the above,

Ans b

1048, The units of moment of inertia of an ared are
() kg m2

(b m4

(c) k/mz

{d) m3

(€) ka/md.

Ans b

10489 The centre of percussion of the homogeneous rod of length L suspended at the top will

ay L2
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(d) 2043

{e) 3148

Ansd

10.50. The centre of gravity of a triamgle lies at the point of
{a) concurrence of the medians

(b} intersection of its altitudes

{€) imtersection of bisector of angles

{d) intersection of diagonals

() all of the above.

Ansoa

10,51, The units of moment of inerhia of mass are
(i) kg m2

(1) m4

{c) ke/mZ

(d) kz/im

(e} mZ/kg.

Ang a

10052, The possible loading in varions members of framed structures are
() compression Or lension

(b} buckling or shear

() shear or tension

(d) all of the above

() bending,

Ans. a

10.55. A heavy string attached af two ends at same horzontal leve] and when central dip s ve
smatll approaches the following curve
(a) catenary
{b} parabola
(¢} hyperbola
() elliptical

{fﬁ::in:uhlrm._ ) ) o
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1054 A trolley wire weighs 1.2 kg per metre length. The ends of the wire are attached 1o two

20 metres apart. If the horizontal tension 15 1500 kg find the dip in the middle of the span

(a) 2.5 cm

(b) 3.0 ¢cm

{c) 40cm

{dy 5.0 cm

£) 20 ¢m.

Ans ¢

10.55. From a circular plate of diameter 6 cm s col out a crele whose diameter i3 a radius of
plate. Find the e.s of the remainder from the centre of circular plate
(4) 0.5 cm
{b) 1.O¢m
{€) LS ¢m
(djy Z5cm
{e) 0.25 cm.
Ans a

10.58. Fick up the incorrect statement from the following .

{a) The C.G. of a circle is at ifs centre

() The C.G. of a triangle is at the infer—section of its medians

() The C.G. of a rectangle 15 1 the inter—section of its diagonals
{d) The C.G. of a semicircle is at a dis—tance of ri2 from the centre
() The C-G. of an ellipse is at its centre.

Ans d

1059, The centre of percussion of a sohd cyvlinder of radius r resting on a horizontal plane wi
(a) r/2

(b) 2rj3

(¢} rlA

(d) 3r/2

RULY

Ans. d

10062, In the equation of virtual work, following force 15 neglacted
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(b} reaction of & rough surface o badywhick rells ontit without slipping

() reaction at a point or an axis, fixed in space, around which a body is con-strained 10 furn
() all of the above

() none of the above.

Ams.d

1063 If a suspended body is struck at the centre of percussion, then the pressure on die as |
through the point of suspension will be
{a) maximum
(b} minimum
(c) zeno
{d) infinity
() same as the force gpplied.
Ans. ¢

10,65, The resultant of the following three couples 20 k force, 0.5 m arm., § ve sense 30 kg i
m arm, - ve sense 40 kg force, 0.25 m arm, + ve sense having arm of 0.5 m will be

(a) 20 kg, - ve sense

(ft) 20 ke + ve sense

(c) 10 kg, + ve sense

{d) 10 kg, - ve senze

(e) 45 k. « ve sense,

Ans a4

10.68. Angle o1 friction is the
{a) angle between normal reaction and the resaltant of normal reaction and the limiting fricti
(b} ratio of limiting friction and normal reaction
{ey the ratio of minimmm friction force to the friction force acting when the body is just aboud
e
(d) the ratio of minimum friction force to friction force acting when the bady is in mohon
() ko of static and dynamic friction.
Ansi i

10068 The coefficient of friction depends on
{a) area of contact
ﬁha}t of surfaces
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{e) all of the above.
Ans.d

10070 Least force required o draw a body up the inclined plane is W sin (plane inclination «
angle) applied in the direction
{a) along the plane
(b} horizontally
() vertically
{d) at an angle equal to the angle of fric—tion B0 the mclined plane
() unpredictable.
Ams.d

10.7 1. The rabio of imifing friction and normal reachion 15 known as
() coefficient of friction

(b} anzle of friction

{c) angle of repose

() sliding friction

() friction resistance.

Ans. a

1072 Which ome of the following statements s not corregt

() the tangent of the angle of friction is equal to coefficient of friction
(b} the angle of repose is equal to angle of friction

() the tangent of the angle of repose is equal 0 coefficient of friction
{d) the sine of the angle of repose is equal to coefficient to friction

(e) none of the above.

Ans d

10.75 Om g ladder resting on smooth ground and leaning agamst vertical wall, the force of i
will be
(a) towards the wall at its upper end
{b) away from the wall at its upper end
(€) upwards at its upper end
{d) downwards at its upper end
. {ﬂ‘ none of the above.
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10,74 Om the ladder resting on the ground and leaning agaimst a smooth vertical wall, the for
fraction will be
(a) downwards at its upper end
() upwards at its upper end
() perpendicular to the wall ot its upper end
{d) zero at its upper end
() nome of the above,
Ans d

10076 Frictional force encountered after commencement of motion s called
{a) post friction

(b} limiting friction

() kimematic friction

(d) frictional resistance

{e) dynamic friction.

Ang ¢

1077, Coefficient of friction is the

(a) angle between normal reaction and the resultant of normal reaction and the limiting frictis
(b} ratio of limiting friction and normal reaction

() the friction force acting when the body 15 just about (0 move

{d) the friction force acting when the body is in motion

(&) tangent of angle of repose.

Ans b

10.78. Pick up wrong statement about friction forge for dry surfaces. Friction force is
{a) proportional to normal load between the surfaces

(b} dependent om the matérials of contact surface

() proportional to velocity of sliding

{d) independent of the area of contact sur-faces

() none of the above is wrong statement.

Ans ¢

10.79 A body of weight W on inchned plane of 4 being pulled up by a horzontal force Fwill
thipumt of motion up the plane when Fis rqli.tl o
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() Wianfa + <|))

{d) Whanja-=<t=)

() Wiana.

Ans ¢

10.80. A particle moves along a straight line such that distance (x) traversed in t seconds is gi
% = 12 (t - 4). the acceleration of the particle will be given by the equation
(a) 3121
(b) 312421
{c) 61-8
{d) 64
{e) G12-8¢.
Ans. ¢

10081 If rain is falling in the opposite direction of the movement of a pedestraim, he has to hol
umbrella

{a) more inclined when moving
(b} less inclined when moving
(¢} more inclined when standing
{d) less inclimed when standing
() nome of the above,

Ans. d

10.86. A projectile is fired at an angle 9 10 the vertical. ts horizontal range will be maximum:

i%

(a) 0"

{b) 307

(c) 45°

(dy 607

{e) 90e.

Ans ¢

1088, Limiting force of friction is the

{a) tangent of angle between normal-reac-tion and the resaltant of normal reac-tion and i
friction
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() the friction force acting whenthebady i3 et alond 10 move
{d) the friction force acting when the body is in motion
() mimimum force of friction.

Ans, ¢

10.89. Coulomb friction is the friction between
() bodies having relative motion

(b} two dry surfaces

{€) two lubricated surfaces

() solids and liguids

(e) electrically charged particles.

Ans i

1090 Drynammic friction as compared to static frichon s

(i) same

() more

{c) less

() may be less of more depending on na-ture of surfaces and velocity
(&) has no correlation.

Ans ¢

1082 Tanzent of angle of friction s equal to
() kimetic friction

(b) limiting Friction

() angle of repose

(d) coefficient of friction

{e) friction force.

Ans d

10.95. Kinetic friction is the
() tamgent of angle between normal reac-tion and the resultiant of normal reac-fion and the |
friction
{b) ratio of limiting friction and normal reaction
() the friction force acting when the body is just about to move
{d) the friction force acting when the body is in motion
. {ﬂ‘ dymamic friction.
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95, The effort reguired to lift a load W on a screw jack with helix angle a and angle of frction
equal 1o

(a) Whan(a + <)=)

{b) Wianfa-<)=)

(c) Weos(a « <t>)

(d) Wsinfa + <(>)

(€)' W (sin a + c08 <j=).

Ans i

1096 A semi-circular disc rests on a horizontal surface with its top flat surface horizontal an
circular portion touching down. The coefficient of friction between semi-cricular disc and hor
surface 18 M. This disg 18 o be pulled by a horizontal force applied at one edee and it always re
horvzontal. When the disc 15 about to start moving, ifs fop horizontal force wall
(@) remain horizontal
() slant up towards divection of pull
{c) slant down fowands direction of pull
{d) unpredictable
(e} mome of the above.

Ans ¢

10.97. A particle inside a hollow sphere of radius r, having coefficient of friction - can rest
height of
() ri2
(b} r/A
(€)%
{dy 0154 p
(e) 3rj8.
Ansod

1098 The algebraic sum of moments of the forces forming couple aboul any poink in their pl
(a) equal to the moment of the couple
() constant
(¢} both of abowve are correct
{d) both of above are wrong
. {ﬂ‘ none of the above.

= Information Frovided heres is only for reference. It May wvary the Origina


https://www.sarkariresults.io/

e

www . sarkariresults.ia
1099 A single force and a couple acting in the

same pline upon a rgid body

() balance each other

(b} cannot balance each other

(€) produce moment of a couple

{d) are equivalent

() nome of the above,

Ans. b

1O 100, I three forces acting in one plane upon a rigid body, keep it in equilibrium, then they
either
() meet in a point
{b) be all parallel
(<) at least two of them must meet
{dj all the above are correct
(e} nome of the above,
Ans d

100101, The maximum frictional force which comes info play when a body just begins to slide
another surface is called
(a) limiting friction
(b} sliding friction
(¢} rolling friction
{d) kinematic friction
() dynamic friction.
Ans a

10102, The co-efficient OF frction depends upon
() nabure Of surfaces

(b). area of confact

() shape of the surfaces

(d) @il of the above.

() (a) and (b) above.

Ans. a
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{b) meet at one point ;

{¢) both {a) and {b) abowve

{d) all be equal

(e} something else.

Ang ¢

100105, If three forces acting in different planes can be represented by a triangle, these will be
{a) non-equilibrium

(b} partial equilibrium

() full equilibrivm

{d) unpredictable

(e) none of the above.

Ans. a

10,106, If n = number of members andy - number of jomts, then for a perfect frame, n -
(a)j-2

(b)2j-1

(c)2i-3

(d)8/-2

(e) 2 -4.

Ansic

100107, A body moves, from rest wath a constant acceleration of 5 m per s, The distance cow
& ge 15 most nearly

{a) 38 m

(b 625 m

{C) 96 m

(d) 124 m

(£) 240 m.

Ans. b

10,108, A flywhee]l on a motor goes from rest 0 1000 rpm in & sec. The number of revolution
i mearly equal o
(a) 25

l}!ﬁﬂ
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(e) HOO.
Ans b

10010 Which of the following is the locus of a point that moves in such a manner that its dis
from a fixed point is equal to its distance from a fixed line multipliad by a constant greater tha
{a) ellipse
(b} hyperbola
() parabola
{d) circle
() none of the above.
Ans: b

10:111. Which of the following is not the unit of energy
() kg m

() kcal

{c) watir

{d) watt hours

(&) kzm x (misec)2.

Ans. ¢

100112, A sample of metal weighs 219 ams in air, 180 2ms in water, 120 gms in an unknown
Then which 15 correct statement about density of metal
() density of metal can’t be determinad
{b) metal is twice as dense as water
() metal will foat in water
() metal is bwice as dense 25 unknown fluid
() none of the above.
Ans a

1L1 15, The C.G. of a sohd hemasphere hes on the central radius 3r
(a) at distance — from the plane base Sr
{b) at distance — from the plane base 5r
() at distance — from the plane base 3r
{d) at distance — from the plane base or
. {ﬂ‘ af distance — from the plane base.
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100117, The CG. of a plane laming will not be at its geometrical centre in the case of a
() right angled triangle

{b) equilateral trinngle

(<) square

{d) circle

(¢) rectangle.

Ans a

10.019. The CG.of a right circular solid cone of height h lies at the following distince from il
{a) hi2

(b) /3

{c) hi

{d) h/4

{e) 30/5.

Ans d

1122, The ML of hollow circular section about a central axis perpendicular 0 section as
compared to its ML about horizontal axis is
(&) same
{b) double
() half
{d) four times
{e) one fourth,
Ans b

100126 Which of the following is the example of lever of first order
{a) arm of man

(b} pair of scissors

() pair of clinical tongs

() all of the abowve

{2) none of the above.

Ans d

100127, A pair of smith's tongs is an example of the lever of
{Et]! #eioth order
e
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{d) third order

() fourth order.

Ans ¢

100128, In the bever of third order, load W, effort P and fulcrum Fare oriented as follows
{a) W between P and ¥

(b} F between W and P

{€) P between Woand F

{d) W, P and Fall on one side

{2) none of the above.

Ans a

100129 The angle winch an mclined plane makes with the horizontal when a body placed on
about 1o move down 8 known as angle of
() friction
(b) limiting Friction
() Tepose
{d) kimematic friction
{e) static friction.
Ansi ¢

1001350, In actual machines

() mechanical advantage is greater than velocity ratio
{b) mechamical advaniage is equal to velocity ratio
() mechanical advantage is less than velocity ratio
() mechamical advantage is unity

() none of the above.

Ans ¢

10:151. In ideal machines
(a) mechanical advantage is greater than velocity ratio
(b} mechanical advantage is equal to velocity ratio
() mechanical advantage is less than velocity ratio
{d) mechamical advantage is unity

none of the above.

)
o {r = Information Frovided heres is only for reference. It May wvary the COrigina
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101356 A cable with a umiformly distributed load per horizontal metre run wall fake the follon
shape

(a) straight line
(b} parabola

(¢} hyperbola

{d) elliptical

() part of a circle,
Ans: b

ite=: The Information Frovided here is only for reference.

It May wvary the Origina
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